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Theorem 1 (Transfer Theorem) Suppose that the mechanism M takes n iid samples X from D, and

answers 1K (adaptive) queries qi,...,qe on X such that,
Gcc U, +¢ on & %4'7

i) VX € X" Pp(Fi: |qi(X) — M(X)i| > a) < B, where M(X); 15 th‘éaneu(’r gzven y M to the i- th

query;

ii) M is (a,af3)-DP. \\/l =) ? Vivalé

Then,
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Poa(3i : MiX) - (D)) > Ca) < ©

for some constant C.
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Theorem 3 (Easier Transfer Theorem) Let X ~ D" and let M be (e 0)-DP such that for every adaptive

Q1s---.qr and for all X € X"
Pfl Vq+
Em,x [max|gi(X) — M(X),[] <

Then, S— CC Wa’\'ﬁ

[E¢.\A_X[1111ax|qi('D) ~MX)il| <a+e —1+4. /’L/ O( +4 i *%
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Theorem 3 (Easier Transfer Theorem) Let X ~ D™ and let M be (e, d)-DP such that for every adaptive

q1s---,qr and for all X € X™,

E i, x[max|g;(X) — M(X):]] < a.

Then,

Enm.x[max|q;(D) — M(X)i|] <a+e* —1+4.
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Lemma 2 Suppose W is (€¢,9)-DP and on input X € X™, it outputs a counting query q. Let X ~ D"

(independent rows). Then,

[Exwla(D)lg = W(X)] - Exwlg(X)lg = W(X)]| < e —1+34.
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Theorem 3 (Easier Transfer Theorem) Let X ~ D" and let M be (€,0)-DP such that for every adaptive

q1s---,qr and for all X € X",

Er, x [max|q; (X) — M(X):]] < e

Then,

Em x [max|q; (D) — M(X)i|]] <a+e —1+4.
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